N = 0l & At & Ml A

20178 = 20 A LEHSH & Al
A AMIEX
HH: Lol =X =X
G MASEsE Lo I (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ALS S X 83,342,667 80,474,141 2,868,526
= 49 766,231
Xl 95,700
Jl 134,412
Al 26,153,783
- 7,192,541
Lol =X B 45,461,310 44,385, 163 1,076, 147
= 28,216,736
J| 134,412
Al 11,577,589
- 5,532,573
MAES Lo I 43,006,461 42,187,285 819,176
= 28,205,486
J| 134,412
Al 10,067,705
- 4,598,858
HASEOIME YA 698,363 686,819 11,544
Al 517,304
- 181,059
301 YptE A 161,894 165,000 £3,106
Al 80,947
- 80,947
01 Al E&E A£G 2 161,894 165,000 N 3,106
OLQIoEATIISMRSSHE 51,074,000 51,074
Al 25,537
- 25,537
Odz=s=2dAXN2 110,820,000 110,820
Al 55,410
- 55,410
307 2I2t0| ™ 536,469 521,819 14,650
Al 436,357
5 100,112
01 22232 =H| 2,800 2,800 0
O olAHLXCH| 2,800,000& 2,800
Al 1,400
- 1,400
11T AISIEXAIEEX 533,669 519,019 14,650
OZ2AYL22ZA XA (4HA) 270,000,000 270,000
Al 202,500
- 67,500
OZzAgdga=0|29 122,982,000 122,982
Al 122,982
OXMASTHOIE= QLA ANBHE (60 £ )
124,848,000 124,848
Al 93,636
- 31,212
O sASAINEE 15,839,000 15,839
Al 15,839
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SN ALSI S X
Hu: Lol =X EA
gelr MASE o X (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
JI=3 Ks 36,330,489 35,552,386 778,103
2 25,431,342
Al 6,539,488
- 4,359,659
301 gtE L= 36,330,489 35,552,386 778,103
= 25,431,342
Al 6,539,488
- 4,359,659
01 M2I2EZE+06l= 36,330,489 35,552,386 778,103
OJIxzH3X= 36,330,489,000& 36,330,489
= 25,431,342
Al 6,539,488
- 4,359,659
colgdiiel & A ESKA =i 3,558,252 3,552,252 6,000
=2 1,779,126
Al 1,779,126
101 14l 1,325,849 699,315 626,534
= 662,925
Al 662,924
04 JI2ZtHZ22HEE = 1,325,849 699,315 626,534
O QIAS] 2 S XI 2 A2 & 01 K01 22 )
(st =2s2sE)
1,325,849,000& 1,325,849
= 662,925
Al 662,924
201 £B-2dH| 84,822 20,716 64,106
= 42,411
Al 42,411
01 At 2t 2|l 84,822 20,716 64,106
OLQlAS &S X3 AE =S8 84,822,000& 84,822
= 42,411
Al 42,411
307 glz2+ol & 2,147,581 2,832,221 A 684,640
= 1,073,790
Al 1,073,791
11T MISXASER 2,147,581 2,832,221 A 684,640
O QAe 2SI & AL 2,147,581,000& 2,147,581
= 1,073,790
Al 1,073,791
Colgntel o ASIESKY SHU(AY) 268,360 264, 131 4,229
Al 268,360
307 21201 A 268,360 264,131 4,229
Al 268,360
11T MISXAEE 268,360 264,131 4,229
OL QAN E#SXE AL (FIHXH)
268,360,000 268,360
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SN ALSI S X
HH: Lo =X B
gelr MASE o X (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 268,360
LolESEE AL HOt BX 616,911 616,911 0
2 431,836
Al 185,075
307 gl2tol & 616,911 616,911 0
= 431,836
Al 185,075
1T MEIETAEEE 616,911 616,911 0
O ESSEEMEIAHIIEE 616,911,000& 616,911
= 431,836
Al 185,075
SOIDMALAEIA SOF B X 15,704 15,704 0
= 10,993
Al 4,711
307 glz2tol & 15,704 15,704 0
= 10,993
Al 4,711
11T MISXASEX 15,704 15,704 0
OSII AL HI ASIIE X 15,704,000& 15,704
= 10,993
Al 4,711
COSEIZAHIA A X 738,818 738,818 0
= 517,189
Al 221,629
307 21201 A 738,818 738,818 0
= 517,189
Al 221,629
11T A SRAEE = 738,818 738,818 0
OkelssSlleMblAAdXI&  738,818,000& 738,818
= 517,189
Al 221,629
SH-UAZ 2 AHEB L ALY X2 50,000 50,000 0
= 35,000
Al 15,000
307 glz2tol & 50,000 50,000 0
= 35,000
Al 15,000
11T M SXAISE EX 50,000 50,000 0
OSHAA 2 A E S 50,000,000& 50,000
= 35,000
Al 15,000
SN SSHMUSSAHE LS A 2SN 268,824 268,824 0
J| 134,412
Al 134,412
307 21201 A 268,824 268,824 0
J| 134,412
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2N
X ZH -
L= B

el

5 - 4
M- B (B H) - NSAY - B Ol At o %@ﬁ HRE2
Al 134,412
11 A S XA 268,824 268,824 0
(@)eiralsll 168,988,000 168,988
Jl 84,494
Al 84,494
OJIa24d| 30,000,000 30,000
J| 15,000
Al 15,000
OXHlSAY 69,836,000 69,836
J| 34,918
Al 34,918
ol R =X 36,540 33,240 3,300
201 et 6,400 5,600 800
01 AP 2t 2] H| 6,400 5,600 800
Ogbt=2H| 800
—=50 ol S
1,000,000 *80%< & 2> 800
ozl 5,600
—Lolge 244
R %801 %1252 x80%< A 2> 5,600
202 04 Hl 7,040 7,040 0
01 2LHO! bl 7,040 7,040 0
Owolgiez
20,000& #8021 x552 x80%< & 2> 7,040
203 € R F & 3,200 3,200 0
03 A=A PR 3,200 3,200 0
OAE = Xl Al
4,000,000 «80%< & 2> 3,200
307 2iz2to| A 19,900 17,400 2,500
11 M SAAE E 19,900 17,400 2,500
(OF=1¢:(ImES] 5,500
—(HEYs 500,000 50 A~ *13] 2,500
— H2es 600,000 x5 A *13] 3,000
Okolodst 9,000,000& 9,000
O HOIEEHa XA 2,400,000& 2,400
Odzegsy 3,000,000& 3,000
WA 2 S22 XX 100,000 100,000 0
Al 100,000
307 212t0| & 100,000 100,000 0
Al 100,000
10 AtSI S XAl & |8 X 100,000 100,000 0
OMILE= QI Al DNEE! 100,000,000 100,000
Al 100,000




M AR =X
HH: Lo =X B
Sl HASS Lo X CERED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
AMUHEE2Z 277,200 267,200 10,000
Al 273,600
- 3,600
307 2Iztol ™ 277,200 267,200 10,000
Al 273,600
- 3,600
10 AL SXNAIEEE2EH EX 277,200 267,200 10,000
oAU Eg 2l 270,000, 000& 270,000
Al 270,000
OANLIZHESMAEESY 7,200,000 7,200
Al 3,600
- 3,600
Y=ot 3 XA 11,000 5,000 6,000
Al 11,000
301 L2 A= 11,000 5,000 6,000
Al 11,000
01 Al EE X =56l = 11,000 5,000 6,000
O&Fs==at2X & (1121) 11,000, 000& 11,000
Al 11,000
MU 2dHdnsEEIZ2 SRS 36,000 36,000 0
Al 18,000
- 18,000
307 glz2tol & 36,000 36,000 0
Al 18,000
- 18,000
11 AISI S XA E = 36,000 36,000 0
OALGHa g NETZIdSY
36,000,000 36,000
Al 18,000
T 18,000
LoskAd 29 2,454,849 2,197,878 256,971
= 11,250
Al 1,509,884
- 933,715
FEY2YH (S, P A EE) 1,033,733 751,232 282,501
Al 757,943
- 275,790
307 2Iztol ™ 1,033,733 751,232 282,501
Al 757,943
- 275,790
10 M3 ZXNANEHI2IHEXR 1,033,733 751,232 282,501
OZzgd2d4| 678,133
—JI22ZHI(HEHI & /1170 A)
678,133,000 678,133
Al 474,693
- 203,440




3
or =X &2

= - 4 14
N X8-S (3H) - MEAY - B %Ei HR=2
Odzg29HIF=IHX& 71,300,000 71,300
OLolZsMEINE2H (1HA) 3,500,000& 3,500
Al 2,450
. 1,050
OI=EE2AHI XS 280,800,000& 280,800
Al 280,800
L OICHHI X & 37,094 37,094 0
307 2izto| A 37,094 37,094 0
03 QIZIHHEHESIHIEX 37,094 37,094 0
ofet=ozti=g 2N 23H X &
37,094,000 37,094
ZEAEX S 263,750 81,170 182,580
201 LBt | 32,750 738 32,012
02 2=2=24%H| 32,750 738 32,012
Ogbt4=24| 2,000
— et P2 RSAIRAOMH 2
2,000,000& 2,000
OZ2Z22=22 Al 750
— 22 ol A2 E (6304 )
11,9002 *63JH 2~ 750
OA & &l 8 XYl 30,000
— B2 YA ERAE+H| 30,000,000 30,000
401 Al HI L 204 HI 171,000 40,432 130,568
01 Al&H| 170,000 40,000 130,000
O3Z=EME £ 170,000,000 170,000
03 AlE 21| 1,000 432 568
OdZEINE % 1,000,000 1,000
402 SI2vXHE0| ™ 60,000 40,000 20,000
01 SIZEXI2 AN EX (KA 60,000 40,000 20,000
OFZEL X3 IsEd 60,000,000 60,000
SEH2IHEHSAIY 100,846 51,212 49,634
Al 26,423
- 74,423
307 2Iz2t0| A 100,846 51,212 49,634
Al 26,423
- 74,423
11T A EXAIEE X 100,846 51,212 49,634
Odz=d&4d3AY 20,000,000 20,000
Al 10,000
5 10,000
OdZE =g Tz )HSAY| 32,846,000 32,846
Al 16,423
- 16,423




3
or =X &2

STAE 29

- _ _ RE]
N X8-S (3H) - MEAY - B %Ei HR=2
OZ 22 2EA] 30,000 x50l 2~ x323| 48,000
olEXa2dy 893,540 795,714 97,826
Al 636,362
- 257,178
201 et | 3,994 3,994 0
02 B232%H| 3,994 3,994 0
OAl&E ZHI KX Y| 3,994
—Lo=sExa(aa)A=2sXd (102 0l6t)
1,991& 1,497 .35 2,982
—Lo=sExa(sa)A=2sXd (102 0l6t)
1,991&%368.91 735
—LosExa(s)AHASKXH (5 0l6t)
1,067& 258,76 277
307 2I2t0| ™ 829,546 791,720 37,826
Al 576,362
- 253,184
05 QIZtR &S 807,946 771,320 36,626
Oko=2XNA2I XN 807,946
— ol d| 719,800,000& 719,800
Al 503,860
- 215,940
— 29l 88,146,000 88,146
Al 61,702
2 26,444
10 MM SAANEEHESIGHEX 21,600 20,400 1,200
OLQ=EX2ASAXNEE LS 21,600,000 21,600
Al 10,800
- 10,800
402 SI2vXHE0| ™ 60,000 0 60,000
Al 60,000
02 CI2ZtXIE A E X (0| XM THSH) 60,000 0 60,000
OXNEMNL UL MX(ABZ22)
60,000,000& x 14! 60,000
Al 60,000
MOt EXAdE 29 2,400 2,400 0
Al 1,200
5 1,200
307 QI2t0| & 2,400 2,400 0
Al 1,200
5 1,200
10 A SXNANEEHESIHEX 2,400 2,400 0
OMIMICQ=EXNAESAMAEE LS
100, 000& x2021 x 12& 2,400
Al 1,200
- 1,200




2AM: M=KD
Ha: Lo =X 57
S LoA=SXAE 29 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
LOIQAANERA 34,560 38,880 N4 ,320
Al 17,280
- 17,280
307 QI2t0| ™ 34,560 38,880 N4 ,320
Al 17,280
- 17,280
10 Al SXAIEEE2IHIEX 34,560 38,880 N4 ,320
OLQQLAUALDSANEE LG 34,560,000 34,560
Al 17,280
- 17,280
COIQAANLE(IIsEL) AIY 22,500 0 22,500
= 11,250
Al 11,250
402 QI2F X2 0| & 22,500 0 22,500
= 11,250
Al 11,250
02 DIZFXIE2AIEEXZ(0IETHE ) 22,500 0 22,500
OLAQLAUANLES 22,500,000& 22,500
= 11,250
Al 11,250
COISXIMASIAIE XA 4,426 8,851 N4 425
Al 4,426
307 212t0| & 4,426 8,851 N4 425
Al 4,426
10 M SXNANEEHESIHEX 4,426 8,851 N4 425
OLQA=EXMASIAIL XA 4,426,000 4,426
Al 4,426
AL S XY Ol THOFAI A X & 55,000 55,000 0
Al 55,000
307 QI2t0| ™ 55,000 55,000 0
Al 55,000
10 Al SXAIEEE2IHIEX 55,000 55,000 0
OAIZI E XY ILAI & X & 55,000, 000& 55,000
Al 55,000
Colfst2H X @ 7,000 7,000 0
307 QI2t01 ™ 7,000 7,000 0
11 B = TIAI B 7,000 7,000 0
orosd i 7,000,000& 7,000
ool =X & 26,870,076 24,323,833 2,546,243
= 14,628,724
Al 11,557,539
- 683,813
MAS HOHOIXE 12,268,908 11,916,053 352,855
= 7,868,091




2N
CEMe =X B

el

X ZH
S =

Akl = X1 ot

MNAS HOHAX S

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 4,121,199
T 279,618
ZOHAEBEASA 82,151 60,520 21,631
201 ¢er24l 29,231 16,000 13,231
01 At 2t 2l 22,241 14,010 8,231
O el 12,333
— HOHQ S XHEX QM 1, 100& x5,5300H 6,083
—ZA=XAER=S(28)
3,700 1342 123 5,950
— SN SHSENATISHZAMS
300,000 300
o=l 3,388
—FHURNYREAES2Z A Y|
7,000 #5021 %1212 «80%<E 2> 3,388
o2g+g 6,520
L EEV EE -2
70,0003 x6H #23| 840
—ZUUESH2ETNLA UDSTAZ
50,0003 *2Al 2t x 1200 = 1,200
—ZUUEsSNENAYAMAZELAH
70,0003 %401%123] 3,360
— MRS E A RS F A Y
70,0003 *401 %43 1,120
02 =24l 1,990 1,990 0
O=323<HA 1,990
—dadssaE 5,500 x 1501 » 12 990
— AU SAZ 20,0003 *2CH«12& 480
— =S XYl 520,000& 520
03 A2 Z I 5,000 0 5,000
OUEY R Z o =Xlst0re 5,000,000& 5,000
202 O4dl 4,400 4,400 0
01 =L 4 Hi 4,400 4,400 0
OFMA=XNANENEEZ
20,0003 51«55 2 +80%<E 2> 4,400
301 et d = 9,520 1,120 8,400
01 MI2EZE 06z 8,400 0 8,400
OLES eIt Al 8,400
—RUDSIHE 500& *70Q1«20 = 128 8,400
09 SALAHIEAS 1,120 1,120 0
OMSISXIAIE S AR = K 8
40,0003 *721+43] 1,120
307 gl2tol & 39,000 38,000 1,000
11T ALS S RAEE = 39,000 38,000 1,000




AN ALEI =X

HE: ZOHe =X B

el MAS F0AXH (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OFeloI &2 39,000
— CHS TR OH QI X2 A B A
9,500,000 *1CH 9,500
—gssg=sn 9,500,000% *1CH 9,500
— NMEOHLHE X 2 20,000,000 = 1CH 20,000
ZOHQIH ALK& 12,930 11,500 1,430
307 21201 A 12,930 11,500 1,430
11T MISXASEEX 12,930 11,500 1,430
OFoH AL &AL 4,200,000& %13 4,200
OHMHAZIISEHHE H AL 4,230,000& *13 4,230
OEX &0l H A 1,000,000 *13] 1,000
OAZZOHRI A& LIS 0l AF  1,000,000& *12] 1,000
OWE EO0H A& LSOl 2,000,000& 13 2,000
OuESALDE0|J & A 500,000& 500
ZOHeI Ty & X 25,000 25,000 0
Al 14,000
- 11,000
307 glz2tol & 25,000 25,000 0
Al 14,000
T 11,000
01 222l 3,000 3,000 0
OBATHUABLBOIBLLY DI
3,000,000 3,000
Al 3,000
11 ALS S XAEE = 22,000 22,000 0
OFHOtSE Ot 2 Z b 22,000,000 104 & 22,000
Al 11,000
T 11,000
Zoiold el XNE (sXLRtal) 362,880 347,352 15,528
= 181,440
Al 181,440
101 1244 dl 58,968 63,540 N4,572
= 29,484
Al 29,484
04 JIZtHZ22HEE+ 58,968 63,540 N4,572
OFMA=SK LRl 24| 56,628,000 56,628
= 28,314
Al 28,314
OFMA=SXL Xl 2o 2,340,000 2,340
= 1,170
Al 1,170
307 212+0] & 303,912 283,812 20,100
= 151,956
Al 151,956




SA: ASISTD
Hu: mojel =X =X

e MAS HOHXSE (2 &HH)
_ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
1A S XAIEE X 303,912 283,812 20,100
S+DSSN SN TN LR 2 AL
45,360,000 45,360
= 22,680
Al 22,680
OEHEEMAL XA 258,552,000 258,552
= 129,276
Al 129,276
MO LRI X (Lt ARRl) 345,762 504,364 A 158,602
= 172,881
Al 172,881
101 21214| 345,762 504,364 A\ 158,602
2 172,881
Al 172,881
04 JIZtHIZ22XNSES 345,762 504,364 A 158,602
OBV S AT AN (SHEERSLE)
345,762,000 345,762
= 172,881
Al 172,881
e IO EINE T NIV FIDVEID) 76,832 0 76,832
=2 38,416
Al 38,416
101 2121 4| 76,832 0 76,832
= 38,416
Al 38,416
04 JIZtHIZ22XNSES 76,832 0 76,832
OXF O AI2EMI L X2l A 76,832,000 76,832
= 38,416
Al 38,416
Aojeld el X (Heerzsl) 4,580 4,000 580
307 212t0| & 4,580 4,000 580
04 BIZ2ISHAFAISHE E X 4,580 4,000 580
OZHeI =23l 4,580,000& 4,580
TS (IIxE) N2 616,924 556,790 60,134
= 431,847
Al 185,077
301 Bt A= 616,924 556,790 60,134
= 431,847
Al 185,077
01 Al E & A 462 616,924 556,790 60,134
OXFMHLEHODIE)XNS 616,924,000 616,924
= 431,847
Al 185,077
S (XA S) S 500,090 516,570 N 16,480
= 350,064




A AMIEX
Hu: Do =X =X
Sl HAS FOjelK (29l
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 150,026
301 et A= 500,090 516,570 N 16,480
= 350,064
Al 150,026
01 Al B & A 462 500,090 516,570 N 16,480
OZMWLS (XARASE )X = 500,090,000 500,090
= 350,064
Al 150,026
2oz 20 X3 4,175,664 3,827,428 348,236
= 2,922,965
Al 1,252,699
301 et A= 4,175,664 3,827,428 348,236
= 2,922,965
Al 1,252,699
01 Al BE& X 262 4,175,664 3,827,428 348,236
Q&2 20 X2 4.175,664,000& 4,175,664
= 2,922,965
Al 1,252,699
SZSH0HQ XXM 2™ 161,520 159, 120 2,400
Al 161,520
301 LBt A= 161,520 159, 120 2,400
Al 161,520
01 AISIE & A %52 161,520 159, 120 2,400
OZSHMHAUXN XM= 161,520,000 161,520
Al 161,520
oo ESXNASH X 4,637,411 4,552,418 84,993
= 3,246,188
Al 1,391,223
307 2izto| A 4,637,411 4 552,418 84,993
= 3,246,188
Al 1,391,223
05 QIZtR EZS 4,637,411 4 552,418 84,993
OHMe s 4.637,411,000& 4,637,411
= 3,246,188
Al 1,391,223
ZOHOl BHENAI0O X (AlGI) 493,190 469,126 24,064
Al 345,233
5 147,957
307 QI2+0| & 493,190 469, 126 24,064
Al 345,233
5 147,957
05 QIZtREZ 493,190 469, 126 24,064
OFMESsSXJAFIAA 493,190,000 493,190
Al 345,233
- 147,957
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SN ALSI S X
Hu: Do =X =X
©?: HAS FOHAX (&
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
22X 2N 5,027 0 5,027
= 3,519
Al 1,508
307 gl2tol & 5,027 0 5,027
= 3,519
Al 1,508
05 BIZHRI & 3 5,027 0 5,027
OgsExItda0 5,027,000& 5,027
= 3,519
Al 1,508
Zoperelzdl XA 118,729 212,850 A 94,121
= 94,983
Al 23,746
308 XX SIS0 & 118,729 212,850 ~94,121
= 94,983
Al 23,746
10 B2 SO BAEHH A 118,729 212,850 A 94,121
O&oeezdl A& 118,729,000& 118,729
= 94,983
Al 23,746
MASEOHe M 2 Z A K& 9,624 10,100 AAT6
= 4,812
Al 4,812
307 21201 A 9,624 10,100 AAT6
= 4,812
Al 4,812
01 =L =4l 9,624 10,100 A476
OMASZ A EHHI L2 AHI X &
9,624,000 9,624
= 4,812
Al 4,812
CESEmE] 18,637 18,637
= 14,910
Al 3,727
307 21201 A 18,637 18,637 0
= 14,910
Al 3,727
01 92724l 18,637 18,637 0
OBXJ|I7u= 18,637,000& 18,637
= 14,910
Al 3,727
LEMEAMEA HHRXH K& 549,616 561,600 A 11,984
= 384,731
Al 164,885
307 gl2tol & 549,616 561,600 A 11,984
= 384,731
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2N
X ZH -
L= B

el

Akl = X1 ot
gopel =X s&
MNAS HOHAX S

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 164,885
05 RIZHRI &t 3 549,616 561,600 A 11,984
O ME MBI ABIRH A& 549,616,000 549,616
= 384,731
Al 164,885
A BRI EHOAIL XA 42,000 42,000 0
Al 21,000
- 21,000
307 21201 A 42,000 42,000 0
Al 21,000
- 21,000
10 ALSISXAIEEER2IHEX 42,000 42,000 0
OXNMEHAEHAAN LN RAEEHZH
42,000,000& 42,000
Al 21,000
- 21,000
AHLERH =M X 6,508 9,120 AN2,612
= 4,556
Al 1,952
307 21201 A 6,508 9,120 AN2,612
= 4,556
Al 1,952
05 RIZt2IEt = 6,508 9,120 AN2,612
OYHEEXNAHRH™AA 6,508,000 6,508
= 4,556
Al 1,952
OEEM EMHESXA 11,000 11,000 0
= 7,700
Al 3,300
301 L2 A3 11,000 11,000 0
= 7,700
Al 3,300
01 A3l EE E 6l = 11,000 11,000 0
OWLZHAELHIE XA 11,000, 000& 11,000
= 7,700
Al 3,300
LHHMC R4 XA 11,876 11,520 356
= 8,313
Al 3,563
307 glz2+ol & 11,876 11,520 356
= 8,313
Al 3,563
05 RIZHRI &3 11,876 11,520 356
OLETMHARR2H4H XA 11,876,000& 11,876
= 8,313
Al 3,563
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2N
D ZoH el

el

X ZH
S =

Akl = X1 ot
E=PNERF|
MNAS HOHAX S

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
B354 JdEEIHEXA 345 900 A 555
= 276
Al 69
307 gl2tol & 345 900 A 555
= 276
Al 69
11 AMISIAIEE XS 345 900 A 555
OZS=AMEEIHENRA 345,000 345
= 276
Al 69
334 #sHEXR 612 3,600 AN2,988
= 490
Al 122
307 2I2t0l A 612 3,600 AN2,988
= 490
Al 122
11 AISI S XA E = 612 3,600 AN2,988
OZ33=d&sdHEXNE 612,000& 612
= 490
Al 122
ZUeI=XAd 29 14,601,168 12,407,780 2,193,388
= 6,760,633
Al 7,436,340
- 404,195
HOHOI0IBAILXIH 4,271,624 3,771,740 499,884
Al 4,100,339
- 171,285
307 21201 A 4,271,624 3,771,740 499,884
Al 4,100,339
- 171,285
05 RIZteI & 3 964,084 824,938 139, 146
OFMelsg=2X223 XA 964,084
— oIyl 768,651,000& 768,651
Al 768,651
— 23l 195,433,000& 195,433
Al 195,433
10 MBI ZXNANEHI2IHE=X 3,307,540 2,946,802 360,738
OZMAXNATNS!AL2S XA
(A HWEBESHAE F) 936,442
— Q24| 884,771,000& 884,771
Al 884,771
— 2dgHl 51,671,000 51,671
Al 51,671
OZMAZSSHEIF2F (501A) 210,610
— QI H| 173,999, 000& 173,999
Al 173,999
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AN ALEI =X

HE: ZOHe =X B

S HHA=SIAE 2 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
— 24l 36,611,000& 36,611
Al 36,611
OZMAOIBAEEANSE S (S, B3S)
41,040,000& 41,040
Al 20,520
- 20,520
OFMHAOIEALBARNSE =G
(=2 Age, sX2,535) 96,000
96,000,000&
Al 48,000
T 48,000
OXNEFOHANS XN ALEHSSHI
97,000,000 =14 2 97,000
Al 97,000
OXe=2tESAE 2 (90 A) 1,030,457
— QI 24 H| 964,618,000 964,618
Al 964,618
— 244l 65,839,000 65,839
Al 65,839
OZOMAHINESAE 2SI (4 L) 471,642
— QI 441,252,000 441,252
Al 441,252
— 2dHl 30,390,000 30,390
Al 30,390
OZOOtSHE X & HEH 2|
205,530,000 * 17 £ 205,530
Al 102,765
- 102,765
OHELTMU S} ESHUH2E 218,819
— QA H| 198,512,000& 198,512
Al 198,512
— 224 20,307,000& 20,307
Al 20,307
O A=AE 2HRE 9,337,975 8,003,019 1,334,956
= 6,536,583
Al 2,801,392
307 2Iztol ™ 9,337,975 8,003,019 1,334,956
= 6,536,583
Al 2,801,392
10 M ZXNANEHI2IHE=S 9,337,975 8,003,019 1,334,956
OFMANFAE2Z XA 2]
(2E9d M2, 228 24 MSX)
8,903,713,000& 8,903,713
= 6,232,599
Al 2,671,114
OFMAANFAL2S XA 2|
(2god d3td , 28 , 24 , MSX)
434,262,000 434,262
= 303,984
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2N
X ZH -
L= B

el

AVEl = X Bt
zojel =X =
ZHU=TANE 2

SA - FE - BI(EA) - NRAY - By 0l b SSa DS
| Al 130,278
0ol HAFAE 2 X (Al 473,970 24,450
Al 241,060
- 232,910
307 21201 & 473,970 24,450
Al 241,060
- 232,910
01 222l 63,570 A 14,430
OZMHANFALSSLENE (BS2 EHI)
13,000& »326¢! 4,238
Al 4,238
OZMWANFANLSEX S (EH LAY
12,000& 3262/ 3,912
Al 3,912
OMNOIHFAIMSH A (T =2Y|)
12,5003 *326 Q21 x4= | 16,300
Al 8,150
- 8,150
OBMNOANFALSHI A (LB
10,000& %3261 »12& 39,120
Al 19,560
- 19,560
10 ALl SXAIEEE 2 H EX 410,400 38,880
OHMUAANFALSANSE S
(22d Bardl WAAY, 28 MSX)
410,400,000& 410,400
Al 205,200
- 205,200
ZOHAANFAIE D2 306, 155 306, 155
= 153,078
Al 153,077
402 212t X201 & 306, 155 306, 155
= 153,078
Al 153,077
02 RIZt X2 AL EZ (OIS ) 306, 155 306, 155
OHMLINFAIEISES 306, 155,000& 306, 155
= 163,078
Al 163,077
ZOHAXATHEAE JIsEZ 27,943 27,943
= 13,972
Al 13,971
402 BI2FX=01 M 27,943 27,943
= 13,972
Al 13,971
02 P2 XHE2AILEZ(0IETHR) 27,943 27,943
OFMHAXTATHEAN LI SEX 27,943,000 27,943
= 13,972
Al 13,971
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2N
X ZH -
L= B

el

AVEl = X Bt
zojel =X =
ZHU=TANE 2

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OIS EIAIE RO XA 41,001 41,001 0
Al 41,001
307 gl2tol & 41,001 41,001 0
Al 41,001
11T ALS S RAEE = 41,001 41,001 0
OWEEMHAIIAEZROIXA 41,001,000& 41,001
Al 41,001
ST NS MEHEYH X 142,500 142,500 0
= 57,000
Al 85,500
307 glz2+ol & 142,500 142,500 0
2 57,000
Al 85,500
10 ALSISXAIEEE2EH EX 142,500 142,500 0
OSSZMHAXNSMEHEHZ S
142,500,000 * 100 & 142,500
= 57,000
Al 85,500
NAass 2008 & 7,105,212 7,898,686 AT93,474
= 6,136,063
Xl 95,700
Al 646,522
T 226,927
HASE d=2X&H 72,000 76,141 A4 14
Al 50,400
- 21,600
HASFRUIZVALEBHZ XS 72,000 76,141 A4 141
Al 50,400
- 21,600
301 et d = 72,000 76,141 A4 141
Al 50,400
- 21,600
01 MEIBEZE+06l= 72,000 76,141 N4 14
ONASFRUIUALEF R 72,000,000& 72,000
Al 50,400
- 21,600
HASE A& N 2,309,348 2,655,838 A 346,490
= 1,887,235
Xl 95,700
Al 265,658
T 60,755
g2z 1,770,368 1,983,300 A212,932
=2 1,593,410
Al 123,846
T 53,112
101 @124 dl 656,928 969, 860 A 312,932
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A AMIEX
HE: HASS MEOE XL
G MASES g I (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 591,314
Al 45,905
- 19,709
04 JI2ZtHIZ22NEE 656,928 969, 860 N 312,932
OXE2Z AU (FUBEE=SEE)
656,928,000 656,928
= 591,314
Al 45,905
- 19,709
201 LBt | 1,920 1,920 0
= 1,728
Al 134
- 58
01 AP 22| d| 1,920 1,920 0
ORNEZZANLZIEZ2H|(MEEEHS)
1,080,000 1,080
= 972
Al 76
- 32
OXEZ2ZAIE =& ZAH| 7,000 x221 x50 840
= 756
Al 58
- 26
202 044l 11,520 11,520 0
= 10,368
Al 807
- 345
1 =2 Wl 11,520 11,520 0
OXE2Z ALY 2 o HI 20,000& =201 x72 2,880
= 2,592
Al 202
- 86
OXEZZAY 2L (SHHE)
20,000 1221 %32 x 122 8,640
= 7,776
Al 605
- 259
307 gizto| & 1,100,000 1,000,000 100,000
= 990,000
Al 77,000
- 33,000
11T A EXAIEEX 1,100,000 1,000,000 100,000
OXNEZ2ZAIEHI A& 1,100,000,000& 1,100,000
= 990,000
Al 77,000
- 33,000
NETEMHSY 297,923 281,366 16,557
= 208,546
Al 89,377

- 125 -




SN ALSI S X
HE: HASS MEOE XL
Sl HASS g X CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 297,923 281,366 16,557
=2 208,546
Al 89,377
10 ALl SXAIEEE 2 H EX 271,177 255,730 15,447
OX<STHadH =2 S 271,177,000& 271,177
= 189,824
Al 81,353
11T M3 SRASEEX 26,746 25,636 1,110
OXHE A 22l 26,746,000 26,746
= 18,722
Al 8,024
XX E M E 22 (AlY]) 9,600 9,600 0
Al 4,800
- 4,800
307 gl2tol & 9,600 9,600 0
Al 4,800
- 4,800
10 ALl SXAIEEE2EH EX 9,600 9,600 0
OXNSTHEHHSMASE =L
100,000& «821 12 9,600
Al 4,800
- 4,800
TATEE ASIMHA STAIY (DAL HS ST ) 136,714 124,710 12,004
Xl 95,700
Al 41,014
301 et Az 136,714 124,710 12,004
Xl 95,700
Al 41,014
01 MI28E 06z 136,714 124,710 12,004
OJNAIHS 2= 20IA L (HIRH )
136,714,000& 136,714
X 95,700
Al 41,014
22sEUA=+SNHYESS NI (YIS SEAY) 59,784 214,225 A 154,441
= 53,816
Al 4,174
- 1,794
301 YprE A3 59,784 214,225 £ 154,441
2 53,816
Al 4,174
T 1,794
01 NI ER= 252 59,784 214,225 A 154,441
OIS EFAY 59,784,000 59,784
= 53,816
Al 4,174
T 1,794
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SN ALSI S X
HE: HASS MO X
2 HASE UE XN (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
CE2sEUA=+SNHYESS NI (LHLINSEEAY) 34,959 42,637 AT,678
= 31,463
Al 2,447
- 1,049
301 gtE L= 34,959 42,637 AT,678
= 31,463
Al 2,447
- 1,049
01 M2I2EZE+06l= 34,959 42,637 NT,678
OULISSEAMY 34,959,000& 34,959
= 31,463
Al 2,447
- 1,049
HASEE =Ha2AH X2 4,723,864 5,166,707 AN 442,843
= 4,248,828
Al 330,464
T 144,572
FHEN 4,720,920 5,163,955 A 443,035
= 4,248,828
Al 330,464
T 141,628
301 et a s 4,300,000 4,787,505 A 487,505
= 3,870,000
Al 301,000
T 129,000
01 MEIBEE 2063 4,300,000 4,787,505 A 487,505
OFAHASH (LX) 4,300,000,000& 4,300,000
= 3,870,000
Al 301,000
- 129,000
403 A X EHHS =0l A 420,920 376,450 44,470
= 378,828
Al 29,464
- 12,628
02 SJ|1 2SOl CHSH A2 X O & AF I 420,920 376,450 44,470
OFHINH(=ERXSA) 420,920,000& 420,920
= 378,828
Al 29,464
T 12,628
=HZ0 (2Hl) 2,944 2,752 192
201 Let24E] 1,344 1,152 192
01 At 2t 2l 1,344 1,152 192
OFHSHYRFUS I
7,000 221 %1202 «80%<E &> 1,344
202 O4dl 1,600 1,600 0
01 = LH 4 bl 1,600 1,600 0
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SN AE= XD
M HASS MEOE X
S HASE F)HS0 X8 (29l & 2)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
SEFEREEESE]
20, 00021 #2901 ¥502 +B0%< 2> 1,600
ZEMISX A2 KR 2,547,556 2,444,473 103,082
Al 1,982,570
- 564,985
ABZTHEA SE 2,547,555 2,444,473 103,082
Al 1,982,570
R 564,985
NEEMEEX- 2,411,635 2,330,553 81,082
Al 1,971,570
- 440,065
201 Yer 2 bl 672 576 %
01 A2 22l 672 576 %
ozl 672
— NS =X BYR =TS S
7,000 %191 %1202 +B0%<E 2> 672
202 01t 880 880 0
NETET 880 880 0
OMBIZ T2 2= 0fH|
20,0001 #1921 552 +B0%<E 2> 880
307 2I2H0I 2,410,083 2,329,097 80,986
Al 1,971,570
- 438,513
05 Bt 1,656,354 1,595,537 60,817
OMel=SXZSY (Y, 52l 8S) 1,686,354
— o121y 1,497,190,000% 1,497,190
Al 1,272,611
- 224,579
— 29y 59, 164,0002 159, 164
Al 135,289
- 23,875
0 MBS TASEESSH R E 587,729 567,560 20, 169
OMNBIZSX 22 (HE) 533,729
kL] 490,961,00024 490,961
Al 417,317
- 73,644
— 29l 42,768,002 42,768
Al 36,353
o 6.415
OMSISXZBANISESY 54,000,008 54,000
Al 27,000
- 27,000
1A SXAIE E = 166,000 166,000 0
OMEl=SXZZ2I0829H 152,000,008 152,000
Al 76,000
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S AE= XD
Ha: SHRAMISXAHA X &

2 AISIEXAMHA S&X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
- 76,000
OMEANSIESHSH(HA) 14,000,000 14,000
Al 7,000
- 7,000
Al 22X 2 JDs8d 22,000 0 22,000
Al 11,000
- 11,000
402 12t X0l ™ 22,000 0 22,000
Al 11,000
- 11,000
02 QX2 A E X (0| & THE) 22,000 0 22,000
OFeAMISRN 2L ME=Z2 A
22,000,000 1Al 22,000
Al 11,000
5 11,000
Ab8l S K| 48 8 Al X & 113,920 113,920 0
301 et A= 113,920 113,920 0
01 Al B & A 462 16,000 16,000 0
OAZEXMEALRAR2 16,000,000& 16,000
0B MBI ERIBAZ 97,920 97,920 0
OAMZIEXNAELEATIEL A 22 97,920
— S Al 6,000 *6821 %20 x 12& 97,920
L=0o B5 2 1« 1,240,140 1,307,290 ANB7,150
= 784,708
Al 389,563
5 65,869
C=0AIE X 1,222,456 1,292,702 NT0,246
= 784,708
Al 389,563
5 48,185
L=0lAlE 2d94| 1,121,011 1,191,257 NT0,246
= 784,708
Al 336,303
307 QI2+0 & 1,121,011 1,191,257 AT0,246
2 784,708
Al 336,303
10 A SXNANEEHESIGHEX 1,097,511 1,167,757 ANT0,246
OEHTHEA LSS Q2|
978,577,000 978,577
= 685,004
Al 293,573
O HEANL2IXN29H|
118,934,000 118,934
= 83,254
Al 35,680
11T A EXAIEEX 23,500 23,500 0
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AR RPN
M o0 85 2 A
el wHOIAS X CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
OL=QTHEANLHEZZIEH 10,500,000 10,500
= 7,350
Al 3,150
Okb=0Z2 JHXAAS 13,000,000& 13,000
- 9,100
Al 3,900
C=0AlE 224l X (All) 101,445 101,445 0
Al 53,260
- 48,185
307 lz2tol & 101,445 101,445 0
Al 53,260
- 48,185
01z 2= 51,765 51,765 0
OL=HEANLSLXH (H22AT) 51,765
— 2l E | 15,0003 20321 123 36,540
Al 18,270
- 18,270
— I =l 50,000& »203¢! 10,150
Al 5,075
- 5,075
— EARAH 12,0003 »203¢! 2,436
Al 2,436
—2SZ &l 13,000& »203¢! 2,639
Al 2,639
10 M SXNANEEE2SHEX 49,680 49,680 0
O=dANEENNSESZ
180,000& 2321 x12& 49,680
Al 24,840
- 24,840
L=e B3 17,684 14,588 3,096
c=el 25 17,684 14,588 3,096
201 fEt2E | 8,344 8,248 96
01 At 2t 2l bl 8,344 8,248 96
Oget=2ZH| 7,392
—HUANLTAANEBIR
770,000 67«20 At+80%<ZE 2> 7,392
o=2g=+¢ 280
L0l HAMASRSY
70,0003 »2Q1%23] 280
O=gl 672
— L H0IR R T A
7,000 * 121 %1202 «B0%<E &> 672
202 o4 4l 880 880 0
01 = LH ol 880 830 0
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SN ALSI S X
M o0 85 2 A
ot L0l B3 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ob=o8EdH0 & X220l
20,0003 121 «552 «80%<E 2> 880
301 et 8= 8,460 5,460 3,000
01 MI2EZE 6= 7,500 4,500 3,000
O At X+ & 2 H 750,000 *6+* 4,500
OLDS At ZH X & AHI A 3,000,000 3,000
1MIIEBELSS 960 960 0
OL=elAen 20,0003 #4001« 122 960
HE2HZHI (AL =Xt 118,374 114,696 3,678
ol 2 gl 97,464 97,141 323
ol 2AH| 97,464 97,141 323
101 14 Hl 97,464 97,141 323
01 2= 68,894 66,631 2,263
ONeRR4g
9,6493 x20Q! *35A] 2t * 12& »85%< & 2> 68,894
03 RIAHAZZ2 T E =+ 28,570 30,510 A 1,940
OFEHYAIL 2 (H=R/12) 28,570
—JlZs 1,070,520& =128 12,847
— &0z 1,070,520 & »400% 4,283
— A2 29,2193 x1.5%121%180Al 2+ 2,490
—HXUSIHZE2FY 9,219 +8AI2F+121+15¢ 1,107
- XE+E 159,750& 128 1,917
— =S gl 130,000& x1Q1x12& 1,560
— WSl 140,000 =121« 12& 1,680
— AR 30,000& «x101«12& 360
- &= 20,0003 x321«12& 720
— ZE S| 1,070,520 » 121 x75%*23| 1,606
PEET 20,910 17,555 3,355
Jl2234 20,910 17,555 3,355
201 2Bt | 13,351 10,836 2,515
01 At 22l 13,351 10,836 2,515
Ogt=&H| 8,416
—2A2E+EH| 10,520,000 *80%<& 2> 8,416
O= &l 2,823
—REABEYRFAIS A
7,000 #2121 +24 2 «80%<E 2> 2,823
Oogxtz 2,112
—dN=EAMINLIZ 120,000& = 1CH =128 1,440
—d2FJed=z 56,000& 10 =122 672
202 oddl 3,359 3,359 0
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S MBI =X
M HNS2AAY (A =X D)
S J|=2AH|

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH 4 bl 3,359 3,359 0
OAtZI SRR FE NI
87,400 «4 01 x3 x23| xBO%<E 2> 1,679
ORN2EERFAA
20,0003 #2121 x5 2 «80%<E 2> 1,680
203 YR =&l 4,200 3,360 840
04 FN2ELRZ=TH 4,200 3,360 840
ORMSIYRFLH 350,000& »12& 4,200
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